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Index: 0, Unicode:

Nodes: 161, Contours: 4
BBox: (0, 0) - (2800, 301)
LSB: 0, RSB: 2, Width: 2802
Ish: 272, rsh: 246, width: 2284

[

Index: 2, Unicode: 0063
Nodes: 219, Contours: 7
BBox: (0, 0) - (2800, 348)
LSB: 0, RSB: -2, Width: 2798
Isb: 0, rsh: -2, width: 2800

e

Index: 4, Unicode: 0065
Nodes: 328, Contours: 17
BBox: (0, 0) - (2800, 196)
LSB: 0, RSB: -2, Width: 2798

g

Index: 6, Unicode: 0067
Nodes: 1196, Contours: 57
BBox: (0, 0) - (2800, 308)
LSB: 0, RSB: 6, Width: 2806
Ish: 208, rsb: 214, width: 2384

i

Index: 8, Unicode: 0069
Nodes: 311, Contours: 16
BBox: (0, 0) - (2744, 252)
LSB: 0, RSB: 58, Width: 2802

k

Index: 10, Unicode: 006B
Nodes: 259, Contours: 12
BBox: (0, 0) - (2800, 320)
LSB: 0, RSB: -2, Width: 2798
Isb: 1369, rsb: 1363, width: 66

m

Index: 12, Unicode: 006D
Nodes: 234, Contours: 6
BBox: (0, 0) - (2794, 301)
LSB: 0, RSB: 4, Width: 2798
Ish: 791, rsb: 799, width: 1208
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Index: 14, Unicode: 006F
Nodes: 141, Contours: 1
BBox: (0, 0) - (2800, 293)
LSB: 0, RSB: -2, Width: 2798
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Index: 16, Unicode: 0071
Nodes: 120, Contours: 1
BBox: (0, 0) - (2800, 324)
LSB: 0, RSB: 6, Width: 2806
Ish: 198, rsh: 98, width: 2510

S

Index: 18, Unicode: 0073
Nodes: 603, Contours: 28
BBox: (0, 0) - (2792, 398)

LSB: 0, RSB: 10, Width: 2802
Ish: 1282, rsh: 1283, width: 237
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Index: 20, Unicode: 0075
Nodes: 644, Contours: 12
BBox: (0, 0) - (2800, 503)

LSB: 0, RSB: 10, Width: 2810
Ish: 1069, rsb: 1108, width: 633

w

Index: 22, Unicode: 0077
Nodes: 1135, Contours: 30
BBox: (0, 0) - (2800, 398)
LSB: 0, RSB: 6, Width: 2806
Ish: 238, rsb: 167, width: 2401

y

Index: 24, Unicode: 0079
Nodes: 837, Contours: 7
BBox: (0, 0) - (2800, 398)
LSB: 0, RSB: 6, Width: 2806
Ish: 25, rsh: 27, width: 2754
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Index: 1, Unicode: 0062
Nodes: 242, Contours: 6
BBox: (0, 0) - (2800, 312)
LSB: 0, RSB: 2, Width: 2802
Isb: 658, rsh: 667, width: 1477
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Index: 3, Unicode: 0064
Nodes: 243, Contours: 4
BBox: (0, 0) - (2800, 313)
LSB: 0, RSB: -2, Width: 2798
Ish: 647, rsh: 648, width: 1503
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Index: 5, Unicode: 0066
Nodes: 494, Contours: 6
BBox: (0, 0) - (2800, 328)
LSB: 0, RSB: 6, Width: 2806
Ish: 793, rsh: 766, width: 1247

h

Index: 7, Unicode: 0068
Nodes: 231, Contours: 11
BBox: (0, 0) - (2800, 204)
LSB: 0, RSB: -2, Width: 2798

J

Index: 9, Unicode: 006A
Nodes: 554, Contours: 26
BBox: (0, 0) - (2800, 272)
LSB: 0, RSB: 2, Width: 2802

|

Index: 11, Unicode: 006C
Nodes: 2115, Contours: 157
BBox: (0, 0) - (2800, 344)
LSB: 0, RSB: 2, Width: 2802
Ish: 342, rsh: 344, width: 2116

n

Index: 13, Unicode: 006E
Nodes: 1598, Contours: 94
BBox: (0, 0) - (2748, 412)
LSB: 0, RSB: 50, Width: 2798
Ish: 145, rsh: 202, width: 2451

p

Index: 15, Unicode: 0070
Nodes: 126, Contours: 1
BBox: (0, 0) - (2800, 264)
LSB: 0, RSB: 2, Width: 2802

r

Index: 17, Unicode: 0072
Nodes: 58, Contours: 1
BBox: (0, 0) - (2800, 252)
LSB: 0, RSB: -6, Width: 2794

t

Index: 19, Unicode: 0074
Nodes: 411, Contours: 10
BBox: (0, 0) - (2798, 305)
LSB: 0, RSB: 0, Width: 2798
Ish: 280, rsh: 281, width: 2237
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Index: 21, Unicode: 0076
Nodes: 2716, Contours: 229
BBox: (0, 0) - (2796, 492)
LSB: 0, RSB: 6, Width: 2802
Isb: 39, rsb: 59, width: 2704
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Index: 23, Unicode: 0078
Nodes: 181, Contours: 7
BBox: (0, 0) - (2800, 428)
LSB: 0, RSB: 2, Width: 2802
Isb: 845, rsh: 848, width: 1109

z

Index: 25, Unicode: 007A
Nodes: 1234, Contours: 32
BBox: (3, 0) - (2800, 398)
LSB: 3, RSB: 2, Width: 2802
Ish: 165, rsh: 164, width: 2473



